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Remember BODMAS shows you the order in which
operations should be carried out.

What is the value of ;

1.

3.

11.

13.

15.

4x2)+(3x3)=

(6x6)—(4x4)=

18— (4x2)=

. 18—(9x4)+32=

30— (5x4)=
(8+6)x4=
4x9)—(4x8)=

72— (8x7)+9=

2.(4x4)+(5x5)=
4.(9x9)-(8x8)=
6.4x(4-2)=

8.(12x12)—-(11x12)=

10.67 —(9x5) =
12.8x7-3=
14.56 - (5x9)=

16.(9x 8)+(9x8)=

these right as well.
Getting easy aren't they!
Try finding a sequence
that will give the same
answer if you put the
brackets in two different
places.

.

nVow! | bet you got most of

!




